Thursday 2nd July
Converting measures – fluency and problem solving

You have done a great job so far this week with converting measures. 
Re-cap – have a go at these:
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Can you remember what these symbols mean?

> means _________________
< means _________________
= means __________________

We are going to use these symbols to compare measurements. 
Example:


True or false?
[image: ]
How can we prove it? We need to convert the kg to g.
To convert 4kg into g, we need to multiply by 1000.
4 x 1000 = 4000g
Therefore the statement above says 4000g is greater than 3,500g. 
That is true. 

Example 2:
True or false?
[image: ]
Convert 21kg into g by multiplying by 1000.

21 x 1000 = 21000g 
21,000 is greater than 210g so the statement is correct.

Your turn:
[image: ]
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Challenge:
[bookmark: _GoBack][image: ]
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éa. A bag of oranges weighs 1,500g.

A bag of oranges would
cost £3.90.

Is Nadia correct?
Explain how you know.

w

6b. A box of blueberries weighs 500g.

would cost £3.20
£
Q
Is Ewan correct?

Explain how you know.

w

3 boxes of blueberries
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Check each of the conversions and correct any that are wrong.

6,500m = 6.5km 9,600m = 9.6km

7.1km = 7,100m 4.7kg = 4,070g

50,5009 = 50.5kg 1,500g = 15.0kg
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4kg > 3,500g
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21kg > 210g




image4.png
1a. Check each of the conversions and
correct any that are wrong.

9km = 900m

1b. Check each of the conversions and
correct any that are wrong.

20,000g = 20kg 4,000m = 40km 1,000g = kg
3,000g = 30kg 8.0kg = 8,000g 6.0kg = 6,000g 8kg = 8,000g
2a. Complete the table: 2b. Complete the table:

True or false? True or false?

3kg < 2,000g 7,000g > 7kg

2kg < 4,000g 3km = 30,000m
4km = 4,000m 9km > 900m
8,000m > 7km ﬁ 6,000m > 6km
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3a. Select a number from the box to
make these statements correct.

3b. Select a number from the box to
make these statements correct.

3kg < > 2kg 4kg > =90,000g
80km=_____ 4,000m> 8,000m > 6km <
4,000 | 80,000 | 3,000 2 2,000 6 7,000 90

Include the correct unit of measurement.

Include the correct unit of measurement.

4a. Jessica swims for 3km and runs for
5km.

How many metres does she complete
altogether?

W

4b. Louis mixes 2,000g of flour and 1,000g
of sugar in a bowl.

How much does the sugar and flour
weigh altogether in kilograms?

g





